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1.2.1 Economic Methodology

Positive & Normative Economics

What is positive economics?

Positive economics is concerned with objective statements of how a market or an economy works
These positive economic statements are based on empirical evidence and tend to be statements of
fact
They can be provento be true or false
Examples of positive economic statements include

= TheunemploymentrateinIndia has fallen from 8% to 7.3% in the past twelve months

= |ncreasing the minimum wage last yearin the UK resulted inimprovements to wage inequality

= Pricesinthe EU have risen dramatically, partly due to the 20% increase in the price of oil

What is normative economics?

Normative economics focuses on value judgements
These judgements are built around opinions and beliefs as to what the best economic policies or
solutions may be
These judgements are called normative economic statements
Normative economic statements are often the basis for the manifestos of political parties and the
different economic agendas they put forward
Examples of normative economic statements include
= Every economy should aim to provide free healthcare forits citizens
= Corporationtaxesinaneconomy should be higher than personalincome taxes
= Thebest way to dealwitharisein crimeis to employ more police

O Examiner Tip

In short answer questions, should you wish to provide an example of a positive or normative statement
ensure that normative statements have the word 'should' in them. Positive statements usually include
data thatis hard to challenge.
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The Role of Positive Economics

= Asasocial science, Economics deals with complex and continuously changing human interactions

= Forthisreasonitis harder to examine arelationship between two variables and always concludeitis
exactly the same (as can be donein Science or Maths)

= There are anumber of tools which are utilised in economic analysis to help ensure that positive
(factual) statements can be made with a higher degree of reliability

1. The use of logic

= When analysing markets, a range of assumptions are made about the rationality of economic agents
involvedin the transactions

= Inclassical economic theory, the word 'rational' means that economic agents are able to consider the
outcome of their choices and recognise the net benefits of each one
= Rational agents will select the choice which presents the highest benefits
= Consumers are assumed to act rationally. They do this by maximising their utility
= Producers are assumed to act rationally. They do this by selling goods/services in a way that
maximises their profits
= Workers are assumed to act rationally. They do this by balancing welfare at work with
consideration of both pay and benefits
= Governments are assumed to act rationally. They do this by placing the interests of the people
they serve first in order to maximise their welfare

2. The use of hypotheses, models and theories

= The social sciences use a variation of the scientific method of research whichis called the social
scientific method
= Thereis aninability to make scientific experiments the results of which can be proventime and time
again
= Thisis due to the complexity of human nature and the significant number of social interactions
that are taking place in any economy at any given pointin time

= The stepsinthe social scientific method are similar to the scientific method but there is a key
difference
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QUESTION

REPORT FYROTHES S
CONCLUSIONS (USING CETERIS PARIBUS)

SOCIAL SCIENTIFIC METHOD

ANALYSE EMPIRICAL
DATA RESEARCH

GATHER
DATA

The social scientific method uses empirical research to gather data

= Empiricalresearchis collected through observations, surveys, opinion polls etc.
= Theresults of the same hypothesis can vary significantly when conducted by different
researchers at different time periods and between different places and cultures

= Refutationis the act of a statement or theory being proved to be wrong by the empirical evidence
= Refutation helps to determine if an economic statement is positive

= Economic models are developed by economists once a hypothesis has been repeatedly proven or
rejected in different circumstances
= Amodelis a simplified version of reality
= Allmodels make a range of assumptions. These are often generalisations about behaviour,
choices andlikely outcomes
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= These assumptions are necessary so as to account for complex human behaviour and constantly

changing variables

= When evaluating different models, the underlying assumptions should always be considered

3. The ceteris paribus assumption

= Due to thelarge number of variables that can influence any particular economic interactionin society,
economists create models using the principle of ceteris paribus

Translated from Latin, ceteris paribus means 'all other variables remain constant'

It allows economists to simplify and explain causes and effects, evenif the explanationis
somewhat limited by the assumptions

E.g. There are many factors that affect the level of unemployment in an economy (interest rates,
consumer confidence, firms'investment, government policies etc.). Using ceteris paribus,

economists can simplify the economic model to analyse just two variables (e.g. unemployment
and interestrates)
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Rational Decision Making /

= Whenanalysing markets, a range of assumptions are made about the rationality of economic agents Your notes
involvedin the transactions

= Inclassical economic theory, the word 'rational' means that economic agents are able to consider the
outcome of their choices and recognise the net benefits of each one. Rational agents will select the
choice which presents the highest benefits
= Consumers are assumed to act rationally. They do this by maximising their utility
= Producers are assumed to act rationally. They do this by selling goods/services in a way that
maximises their profits
= Workers are assumed to act rationally. They do this by balancing welfare at work with
consideration of both pay and benefits
= Governments are assumed to actrationally. They do this by placing the interests of the people
they serve first in order to maximise their welfare

= |Inmany ways, the assumption of rational decision making is flawed. For example, consumers are
often more influenced by emotional purchasing decisions than a rational computation of net benefits

O Examiner Tip

In your examinations, the essay questions test your ability to think critically. The command words for
these questions are evaluate, discuss, or examine.

One way in which you can demonstrate critical thinking is to challenge the underlying assumptions of
economic theory. The idea of rational decision making is one such assumption. Do consumers act
rationally when they make impulse purchases? Do workers act rationally when they accept terrible
working conditions for mediocre pay? Do governments actually maximise public welfare or do they
implement policies that mainly benefit their core voter base?

Irrationality distorts markets and produces fundamentally different outcomes than what would be
achievedif alleconomic agents acted rationally.
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The Role of Normative Economics /

= Value judgements influence governments' choices with regards to the economic policies they Your notes
choose to adopt and spend money on
= The USA spends more money onimprisoning drug users than rehabilitating them
= Inthe UK, the Government has recently increased its spending on rehabilitation
= Tosaythe UKapproachisbetter would be a normative statement
= Tosay that the UK government spends more perhead onrehabilitation would be a positive
statement

= Equity is concerned with economic fairness in the distribution of resources
= |ndividuals and societies have different views on what s fair and this influences government policy
= E.g.Some countries believe itis fair for all of their citizens to be able to access healthcare,
irrespective of their ability to pay, whereas other countries believe that 'no pay, no access'is
fair

= Equality is concerned with everyone being equal and having equal recognition
= Equalityis often anormative concept. When are all people equal? When do people all have equal
opportunities?
= Statistics oninequality would be considered to be positive economic statements
= E.g.In2018, womeninthe USAwere paid 12% less than men in comparable jobs
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1.2.2 Economic Thought

Introduction to Economic Thought

= Understanding the evolution of economic thought over the past 400 years, helps us to understand the
strengths and weaknesses of economic policies we use today

= Each period of economic revolution was created as a result of challenges societies were facing at the
time e.g. classical economics was the solution to centuries of mercantilism while Marxism was the
solution to capitalism and worker exploitation

= Thereisastrong debate around whether societies should create a new economics fit for the 21st
century challenges
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PRE 18th CENTURY /
Your notes

MERCANTILISM

18th CENTURY

+ ADAM SMITH

* LAISSEZ-FAIRE ECONOMICS
* INVISIBLE HAND

* FREE TRADE & WEALTH

19th CENTURY

*UTILITY (CLASSICAL MICROECONOMICS)

« THE CONCEPT OF THE THE MARGIN (MARGINAL ANALYSIS)
+ SAY’S LAW (CLASSICAL MACROECONOMICS)

* KARL MARX’S CRITIQUE OF CLASSICAL THOUGHT

20th CENTURY

* KEYNESIAN ECONOMICS

* THE LIMITATIONS OF MARKETS

+ THE MACROECONOMIC ROLE OF GOVERNMENTS

* THE MONETARIST/NEW CLASSICAL COUNTER-REVOLUTION

21st CENTURY

* BEHAVIOURAL ECONOMICS

+ AWARENESS OF THE INTERDEPENDENCIES THAT EXIST
BETWEEN THE ECONOMY, SOCIETY & ENVIRONMENT

* THE COMPELLING REASONS FOR MOVING TOWARD A
CIRCULAR ECONOMY
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A summary of the economic schools of thought from the 18th century

Economic Ideas From the 18th Century

= Adam Smith published his famous book on Economicsin1776: The Wealth of Nations
= Heiswidelyregarded as the father of Classical Economics
= Written at the start of The Industrial Revolution, it captured his thoughts on how markets could be
coordinated by demand and supply
= Thisbookwas a natural response to the previous century of government intervention in markets
in Europe during a period known as mercantilism

Key ideas from Adam Smith in the 18th Century

Idea Explanation
Laissez-faire ('to leave = Aphilosophy which believes there should be no (or minimal)
alone') economics government intervention with regard to decisions about resource

allocation and production

Invisible hand = Theunseen free market forces of demand and supply that coordinate
the best allocation of resources within society

= Markets are driven by consumers and producers seeking to maximise
their self-interest

= Personalincentives, not government decisions determine the
allocation of resources

Free trade = Removing the protectionist measures found in mercantilism would
increase production, trade and wealth

Wealth = Production creates wealth forindividuals and when individuals get
wealthy, the nation gets wealthy
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Economic Ideas From the 19th Century /

= During the 19th century, several key ideas emerged including classical microeconomics (utility); the Your notes
concept of the margin; classical macroeconomics (Say’s law)
= During this period Karl Marx also developed his critique of classical economic thought
Key ideas from the 19th Century

Idea Explanation

Classical microeconomics | = Theidea of utility as a concept challenged what classical economists
(utility) believed about how a product should be priced

= Previously, prices were a function of the costs of productioninvolved.
Now prices were seen as a function of the satisfaction gainedin
consumption

= Producers should increase production for goods with high consumer
utility

= Utility theory assumes that consumers always act rationally (yet many
purchasing decisions are based on emotion)

The concept of the margin | = Marginal utility is the additional utility (satisfaction) gained from the
consumption of an additional product
= The utility gained from consuming the first unit is usually higher than the
utility gained from consuming the next unit
= E.g.Ahungry consumer gains high utility from eating their first
hamburger. They are still hungry and purchase a second
hamburger but gain less satisfaction from eating it than they did
from the first hamburger
= To calculate total utility, the marginal utility of each unit consumed is
added together
= This means that total utility keeps increasing even while marginal
utility is decreasing

Classical macroeconomics | = Say'slaw of markets was developedin 1802 by the classical, laissez-
(Say’slaw) faire economist Jean-Baptise Say

= |tcanbe summed up with the phrase 'supply creates its own demand'’

= By supplying goods to the market a producer generates income from
sales which they canthen use to purchase (demand) more products

= Thislawimplies that increasing national output in an economy is vital
toincome generation and thus governments should focus on
generating production and be less concerned with consumption

Karl Marx's Critique of Classical Economic Thought

= Free markets generated incredible wealth in the Western World

Page1lof15

© 2015-2024 Save My Exams, Ltd. - Revision Notes, Topic Questions, Past Papers



https://www.savemyexams.com/?utm_source=pdf
https://www.savemyexams.com/

1, SaveMyExams

Head to www.savemyexams.com for more awesome resources

= Karl Marx, a German philosopher, identified that wealth seemed to come from worker exploitation (a /
natural function of profit maximisation) and that inequality was deepening in societies
= The exploitation was seeninlow wages and poor working conditions Your notes

= The owners of the factors of production (capitalists) generated the highestincome (wages,
interest, rent and profit)

= |f allsomeone had to offerwaslabour, and wages were suppressed: theninequality was bound to
increase

= Marxargued that capitalism would eventually lead workers to revolt and that periods of exploitation
would be followed by revolutions
= Theserevolutions would require government intervention to restore stability and equality
= Governments would need to be involvedin the allocation of resources (command economy) to
prevent the pattern fromrepeating

= Marx'sideas were incredibly influential and within a relatively short time frame resulted inmore thana
third of the world's population living in economies influenced by his ideas
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Economic Ideas From the 20th Century

The first half of the 20th Century was dominated by the two World Wars and the Great Depression
The economicideas of the previous century no longer worked
In this severe recession, Say's Law became obsolete as households were unable to buy
goods/services due to acomplete lack of income
John Maynard Keynes, a British economist from Cambridge felt new ideas were needed
Hisideas were quickly embraced and the next 50 years saw a widespread Keynesian revolution as
governments adopted Keynesian economics

Key ideas from Keynes in the 20th Century

Idea Explanation

The limitations of markets = Contrary to classical theory, Keynes saw that the Great Depression

had created a situation where markets did not automatically readjust
to anew equilibrium

= Some markets remained in along term period of disequilibrium where
supply was greater than demand

= Market forces were not resolving the situation

The Macroeconomicrole of | = Keynes believed that Governments needed to stimulate demand by

Governments increasing government spending

= Thiswould begin toincrease the flow of income in the economy which
would further stimulate demand which would help markets to function
again

= He developed the term and field of '"Macroeconomics' by explaining
how aggregate demandis calculated

= Heargued that the use of Fiscal Policy was essential to stabilise an
economy during periods of recession or depression, much more so
than the use of Monetary Policy

The Monetarist/New Classical Counter Revolution

Monetarismis an economic school of thought which emphasises the use of Monetary Policy to
influence aneconomy
= Monetarists believe that poor monetary policy lead to the Great Depression
= Monetarists believe that the use of fiscal policy leads to inflation as government spending
increases aggregate demand
Milton Friedman was one of the leading Monetarists of the late 20th Century
= Hisideasinfluenced Ronald Reaganinthe USA and Margaret Thatcherin the United Kingdom
= Both Governments moved away from Keynesian economics
From the early 1980s there was a resurgence in belief in classical economics and laissez-faire markets
= Government spending reduced and the focus shifted to Supply-Side Policies
= One prominent Supply-Side Policy that the USA and the UK embraced was the use of privatisation
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Economic Ideas From the 21st Century

= The early part of the 21st Century has seen several significant global challenges emerge
= Climate change
= On-goingwars and displacement of populations
= Anincrease of global populationin the last 100 years by 7 billion people
= The Global Financial Crisis of 2008
= The Covid Recession of 2020
= Keynesian economic thought came to prominence again with the 2008 Financial Crisis as
governments chose to spend theirway out of trouble
= Government spendingincreased to levels never seen before, continuing formore than a decade
= Thisincreased spending was financed by increased government borrowing
= |ncreased Government borrowing creates increased tax burdens for future generations
= Evenwith Government spending extraordinarily high in many economies, expansionary Monetary
Policy had to be widely used to bring stability
= This pattern of events prompted calls for societies to rethink Economics
= |tcalled foraneconomic philosophy to emerge thatis nolongerrootedin'old thinking'
= |tcalledforideas fit fora21st Century world
21st Century ldeas

Idea Explanation
The growing role of = Afundamental flaw in economic theory is that individuals behave
behavioural economics rationally in markets

= Behavioural economicsrecognises this and combines elements of
economics and psychology to understand how and why individuals
make the economic decisions they do
= Understanding human behaviour creates better opportunities for firm
and governments to nudge people towards better choices
= E.g.Theuse of choice architecture for online forms in many
countries automatically selects organ donation as a default:
individuals have to opt-out as opposed to opting-in
= Nudge theoryisincreasingly used by firms and governments
across the world

Awareness of the = The circular flow of income model has provided a basis for
interdependencies that exist understanding macroeconomies since it was visualised by Frank
between the economy, Knightin1933

society and environment = The modelhasbeen criticised as not fit for the 21st century as it does
not take into account the inputs and outputs of societies
= |tfocusses onmoney as opposed to well-being and planetary
health
= |nputs are the raw materials which are increasingly used in
unsustainable ways
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= QOutputs are the carbon and waste that are generated

The compelling reasons for
moving toward a circular
economy

= Acirculareconomy has three main principles

1. Eliminate waste and pollution

2. Recirculate products

3.Regenerate nature

= Theincreasing climate crisis provides a strong reason why economies
should rush to move away from the circular flow of income model to
the circular economy model
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